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QUESTION 1

Which expansion of IOPS is true?

A. Input/Output Occasions per second
B. Input/Output Octets per second

C. In/Out Operations per second

D. In/Out Occasions per second

Correct Answer: C

QUESTION 2

Which Cisco Unified Communications Manager node is created first automatically?
A. publisher node

B. user node

C. subscriber node

D. NTP node

Correct Answer: A

Reference:
https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/admin/8_5_1/ccmsys/accm-851cm/a02clstr.html

QUESTION 3

Which purpose of strictly controlling access to different vCenter Server components is true?
A. cost reduction

B. usability

C. increased security

D. bandwidth control

Correct Answer: C

QUESTION 4

How are collaboration applications in the Cisco BE6000 appliance platform models licensed?
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A. per-company

B. no licensing needed
C. per-device

D. per-user

Correct Answer: D

Reference: https://www.cisco.com/c/en/us/products/collateral/unified-communications/business-
edition6000/data_sheet_c78-717454.pdf

QUESTION 5

In the KVM console, which result occurs if the first default is used and network does not have IPv6 configured?
A. KVM switches to IPv4.

B. KVM prompts the admin to enable IPv6.

C. KVM moves to the next default option listed.

D. KVM fails to launch.

Correct Answer: D
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